(200) Xt =2 51 (230) R ERAF S HIgt: (233)212 cHo) &2l
==
— 0l &b g% | ypsa 2 =
e = Ol Ak 2K
X= 6,173,000  |6,414,591 £241,591
0
S8 XA 5773000 5,714,000 59,000
233
A2 900,000 900,000
401
Al 900,000 900,000
893,880 893880 |401-01 (Al=Hl)
O staxel®
SteMRlIE HETH 600,000,0002 X 14! X 99.37/100 =
ANNE NES NEES 200,000,0002 X 14! X 99.28/100 =
SteMElE HESH 2 100,000,0002 X 14! X 99.1/100 =
6,120 6120 |401-03 (Al&=CHHI)
O staxel®
SteR2lE HS M 600,000,0002 X 14! X 0.63/100 =
ANKE XNES NEES 200,000,00090 X 12! X 0.72/100 =
StEXElE HESH 2 100,000,0002 X 14! X 0.90/100
234
D=2 4385000 (3,304,000  |1,081,000




oH (200) K2R X = (230) S B RHAHE = Higt: (234) =2 CEEE
28t Mg = - Ofl A o4 e g ==
401
A& H 2L 20| 4385000  |3,2304000  [1,081,000
4126200  |3,157,161 960,039 |401-01 (Al&Hl)
Ostacrgt
EEIN=)
AUEA LS5ta
2.830,000,0008 X 91.12/100 = 2,578,000
(2 1,415,000)
(Al 1,163,000)
[RERIAFS! ]
542 X ALY 20,000,0009 X 1Al = 20,000
stac =4 10,0002 X 10,000m = 100,000
eipmz 213 5,000,0009 X 40JHA X 99.28/100 = 198,600
LESAC 500,0002 X 500m X 99.28/100 = 248,200
slac 212 2= 500,0009! X 50070 A X 99.28/100 = 248,200
Stac =2 200,0009 X 300J#A = 60,000




L (230)REAHE Mgt (234) =2 (&9l M
==}
_' Of] At OH HEE H D=2+ Ab = oS
SlUS ZSEHTH 2422 HHIZA 500,0002 X 500m X 99.28/100 = 248,200
SIU= SBAW L2 HHIBA 500,0002! X 200m = 100,000
B2 Bl E FRWHBA 450,0009 X 10004 = 45000
AZAIZU C B0 E EZWH L AFIE Y|
500,0002 X 2009#4A = 100,000
2| ==2el a4 XA 6,000,000 X 152t = 90,000
HEBE ANES FNBS 50,000,000 X 14 = 50,000
MEZY 2ol YL AREY| 40,000,0002! X 14 = 40,000
242,000 126,352 115648  |401-02 (Zelbl)
O stage
[2XAE]
AZAl CSotEE HHIAILG (1SH) 2,830,000,0002! X 8.52/100 = 242,000
16,800 20,487 £3,687(401-03 (Al&=2THBI)
O stagy
[2XALE]




2t (200) =X KIS (230) R 8 RHAHH S Hig: (234) 2= 2 el A
o = ol b0 BACS | o= = I =

.3 ME = - Ol & 4 e = a

AFEAl CBotEDE FHIA 2,830,000,0002! X 0.36/100 10,000
[XFRIAN ]
QAT ATRA Y B 5,000,0008 X 407 X 0.72/100 1,400
=L 500,0002 X 500m X 0.72/100 1,800
StaE 23 B4 500,0002! X 500744 X 0.72/100 1,800
SHUE EEEEH Q4 500,0002 X 500m X 0.72/100 1,800
235
D 4 & X 480,000 |2,250,000 A1,770,000
401
Al HI 2 2 Y| 480,000  [2,250,000 A1,770,000
477120 |2,234,340 A1,757,220|401-01 (AI€8I)
O stadel®
AZHMA BEES g4I &3 20,000,0002 X 2 40,000
SgAgRA BAEES 2TE &X 20,000,0002 X 2 40,000
HAKNS 3 AIE HA 200,000,00080 X 14! X 99.28/100 198,560
EM BHQHAIE &% 200,000,00020 X 14! X 99.28/100 198,560
2,880 15,660 A12,780[401-03 (Al THEI)




2t (200) 22X K= & (230)RENAMFS MI&: (235) D1 H & Xl cel e
2 8 Higt = - Ofl &+ oH ee = = =
O ot=XHel&
EANAS EFHAIE HA 200,000,000& X 14! X 0.72/100 = 1,440
EM BHAIA A X 200,000,000& X 14!l X 0.72/100 = 1,440
237
|78l S 8,000 20,000 A12,000
405
A& SHIS 8,000 20,000 A12,000
8,000 20,000 A12,000 405-01 (KHAHFISHI)
otHMeld ZAIHNH |aAHOE 2 3,000,000& X 1CH = 3,000
FHOIEH(AE A, BOD, 250L) F¢& 5,000,000€¢ X 1 = 5,000
800
0:[Ns]Rs]] 400,000 185,870 214,130
800
olldl gl 400,000 185,870 214,130
801
ol bl 8l 400,000 185,870 214,130
O oldlgl 400,000,000& = 400,000




